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15.

Mariposa can get eighteen 0.3125-inch
strips from the 5.625-inch wooden board.
Rubric

1 point for work;

1 point for answer

Jean-Paul did not line the numbers up by
place value when adding. The easiest
way to do this is to line up the decimal
points.

I
4.287 4

+1.2860
55734

4.2874+1.286 = 5.5734

the second costs $6.20 per pound.
Rubric

1 point for answer;

2 points for an explanation that includes
the prices per pound
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6.NS.3

SELECTED RESPONSE 3. Multply. 1.8762 x 42
Select the correct answer.. @ 7.88004
1. Add. 13.389 + 1.24 ® 788004
® 13513 © 788,004
® 14529 ® 783004
© 1462
® 14620 4. Divide. 0.09975 = 0.007
® 1425
2. Subiract. 102,596 — 10.478 ® 1425
® 92118 © 1425
® 92128 @ 1,425
© 112122
® 192118
Match each multiplication expression withits product.
_ 5.2986x126 A 376236
o 6.02986x0.126 B 376236
_ 7.2986x126 C 376236
_ 82986x126 D 376236
_ 9.2986x126 E 37.6236
102986126 F 376236

11.298.6 x 126 G 0376236
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CONSTRUCTED RESPONSE
13. Elsa has $45.78 in her savings account and $21.38 in her wallet.
& How much money does Elsa have?

b. IfElsa puts half of the money in her wallet in the bank, how much money will she have
in her savings account?
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14. Mariposa needs a number of 0.3125-inch
strips of wood for a model she is building.
How many of these strips can she get
from a 5.625-inch wooden board? Show
your work.

15. Jean-Paul incorrectly states that
4.2874 + 1.286 = 4.416. His work is
shown below. Explain Jean-Paul's
mistake and correct his work.

1

IR
42874
+ 1286
44160

17. Shen eams $9.60 per hour at his
part-time job. Last month, he worked
7.25 hours the first week, 8.75 hours the
second week, 5.5 hours the third week,
and 6.75 hours the fourth week. Shen
puts half of his paycheck inthe bank
every other week starting with the first.

a. How much money did Shen earn
each week?

b. How much money did he have in the
bank at the end of last month? Show
your work.

. How much money did Shen haveto
spend from his 4 paychecks? Show
your work.
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16. At alocal gas station, regular gasoline
sells for $3.499 per gallon, while premium
gasoline sells for $3.879 per gallon.

a. Find the difference n price between
the two types of gasoline.

b. How much does a person save on
15.25 gallons of gas by buying
regular instead of premium? Show
your work, and round your answer to
the nearest whole cent.

18. Pablo wants to buy a steak at the grocery
store. He has two options. The firstis
1.37 pounds and costs $9.59. The
second is 1.75 pounds and costs $10.85.
Which is the better buy? Explain.
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10.
1
12,
13,

14,

G

a. $67.16
b. $56.47
Rubric
a. 1 point
b. 1 point

0.3125)5.625 — 3,125 56,25

16.

17,

18.

Rubric

1 point for error;

2 points for corrected work;

1 point for answer

. The difference in price is $0.38 per
gallon.

b. $0.38 x 15.25 = $5.795 = $5.80

Rubric

a. 1 point

b. 1 point for answer; 1 point for work

a. Shen eamed $69.60 the first week,
$84.00 the second week, $52.80
the third week, and $64.80 the
fourth week.

b. Shen had 0.5 x 69.60 + 0.5 x 52.80 =
$61.20 in the bank at the end of
last month.

c. Shen had eamed $69.60 + $84.00 +
$52.80 + 64.80 = $271.20 for the
month. He put $61.20 in the bank, so
he has $271.20 - $61.20 = $210.00 to
spend at the end of last month,

Rubric

. 0.5 point for each amount

b. 1 point for answer; 1 point for work

c. 1 point for answer; 1 point for work

‘The second steak is the better buy.

The first steak costs $7.00 per pound and





